Rl: AREEMREE—RBR

oW AR ittt
e (_EHA=100)> (B4R H=100) (_EAER=100D

10H 11H 12H 10H 11H 12H 1-12

J BT A AR SR 2K 99. 8 99.5 100. 0 100. 5 100. 8 100. 7 100. 4
BRI AR 2L 100. 1 99. 6 100. 0 100. 2 100. 4 100. 4 100. 4

Tk A A% 4R £ 99.9 100. 5 100. 0 99. 8 101. 3 101.1 101.0

TH 9 A AR HE E 99.7 99.5 100. 1 100. 8 101. 2 100. 9 100. 4
Tolb A= T s 99. 9 100. 1 99.9 97.8 98.3 98. 4 97.7
TobAE - H Bk a4 97.9 99. 8 100. 2 97.3 98.1 98. 2 98. 2




R2: BERHERME D RIBE

. b 7= = A R Rttt
(EA=100) | C(EEFRA=1000 | (EEMRABI=100D
Ja B Bt ks S 4R L 100. 0 100. 7 100. 4
— B 100. 2 100. 6 99. 7
L& 100. 4 101. 4 99. 7
#iE 100. 0 99.9 100. 1
S et T 97.5 101. 6 98. 3
= 98. 1 105. 3 101.5
"W 100. 1 98. 2 97.5
ER 100. 3 100. 3 97.3
LUES 102. 2 102. 0 100. 9
2. 7% SR 99. 3 99. 7 101.0
3. M 100. 3 100. 7 100. 7
4. TEAMEIR 99.9 99.0 99. 1
—KE 99. 9 107. 8 102.5
=. B 100. 0 99. 8 99. 7
VU A3 i B IR S5 100. 1 99. 2 100. 6
v ASHIEAE 100. 0 99. 0 100. 3



s i 74 HH I Kitt
(EA=100) | C(EAEFA=100) (_EAFERIEA=100)

N~ BB SRR 99. 8 101.3 101. 9
L #H 100. 0 102. 0 102. 0

2. SCALHR I 99. 5 100. 2 101.6
B, BT R{E 100. 0 99. 4 99. 7
I\ oAt it IS 100. 3 106. 0 105.0
1. HAb ALk 100. 7 112.2 109. 5

2. HoAt AR 252 99. 8 99. 8 100. 7




®3: K=AEEMXERERIMSEHEEK

i [X 7354 él)? [F] LG E%jthl:
(FH=100 | CEEFRHA=100) | CFAFEFEBI=100)
iR 201 100. 0 100. 1 —
WLa 100. 0 100. 1 100. 3
LA 99.9 100. 2 .
CRAR 99. 9 100. 1 _
WL %
BTN 100. 0 99. 7 100. 1
T 100. 1 100. 5 100. 6
DAL 100. 4 99. 8 100. 3
VA 99.8 100. 2 100. 3
TN 100. 0 100. 7 100. 4
74 BVA 99.9 100. 4 100. 1
= 99.8 99. 6 99.9
BT 99. 8 99.9 100. 3
Rl 99. 7 99. 7 99.9
=Ll 99.8 100. 3 100. 4
N 7K 99. 8 100. 7 100. 4




Ra: TAAEFEH] g0 REE

je b W ér)? il=4 %’iﬁ 5d
(EH=100) [ CEFEFRHA=100) [ CEFFE#HE=100)
SRR 99.9 98.4 97.7
Fig E Tl gy
(HE Tk 99.8 98. 6 98.7
LDLAR P2 A 5 ) 99.8 99.7 98.0
2.V AR AR 77 b R 99.7 98. 1 99.0
(OE Tk 99.9 98. 2 97.0
LR 100.0 98. 1 95.7
2.5 8} 100. 5 98.0 96. 3
3.0 99.7 98.2 97.2
AT AT TR
A= FR 99.9 98.2 97. 4
IS 100.0 98. 1 95.7
2.J5 k) 100. 1 98.0 97.7
3.0 99.8 98.3 97.3
QA TE TR 99.9 98.9 98.9
LA il 98.9 99.9 99. 1
2.K%E 100. 1 100.9 101.6
3 H 100. 1 99.7 98. 1
4.7t FE 3 2% 100. 3 97.7 98.5
T T ER T 53
a4 Tk 99. 2 97.3 97.0
(2 T 100. 9 100. 0 97.7
MR S A Tl
WA Tk 100. 7 98. 4 98.0
G Tl 99. 8 96. 4 96. 3
OB L Tl 99.5 99.6 99.5
MEFAEL T 100. 4 96. 1 93.1
@OFRIR T 100. 2 100. 0 99.7
D& Tk 98.8 99.9 99. 1




4 I 2Nz ér)fl il=4 %’ifr tt
(EH=100) [ CEFEFRH=100) [ CEFFEIHE=100)
0ZiZ Tolk 100. 0 99. 4 97. 4
(DZ&Z) Tl 100. 1 100. 8 101.7
DR Tk 99.8 101.5 101.0
9348 Tl 101. 0 98.6 94. 2
WOSCHSARR T 100.0 100. 1 100. 0
GFHE Tk 100. 4 97.1 98.3




®5: TIAEFHWEN T IREE

Je b 74 =SNG Rittl
(_EH=100) (FERHA=1000 | (EFEF#E=100)
JURSEIEAEEREN 46 F5 5 100. 2 98. 2 98. 2
O8]/ N AES 104.9 105. 4 96. 8
QB AL BRI L 99. 0 90. 4 93.5
AF LR K L 100. 6 106. 2 106. 2
O TR R 97.3 87.2 96.5
QPN ES 100. 0 99. 5 97.7
OFe:siK g SYSE |l RN 99. 8 99.1 86. 2
(DI TAVJFERRE S i 26 100. 0 100. 3 96. 8
OAE]™ i 98. 8 93.0 96. 6
COBEA RS 100. 1 100. 7 100. 5




